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METHOD FOR COMPUTING THE ACSI

Three questions, answered on 1-10 scales, are used as input to the ACSI.
  The questions are:

OVERALL SATISFACTION (SATIS):

Consider all your experiences to date with (NAME OF PRODUCT OR SERVICE BEING MEASURED).   Using a 10 point scale on which "1" means "very dissatisfied" and "10" means "very satisfied," how satisfied are you with the the (NAME OF PRODUCT OR SERVICE)?

  Very                                                                                  Very        DK       REF

Dissatisfied  1     2     3     4     5     6     7     8     9     10  Satisfied      11         12

CONFIRM/DISCONFIRM EXPECTATIONS (CONFIRM):

Considering all of your expectations, to what extent has (NAME OF PRODUCT OR SERVICE BEING MEASURED) fallen short of or exceeded you expectations?  Using a 10 point scale on which "1" now means "falls short of your expectations" and "10" means "exceeds your expectations," to what extent has (NAME OF PRODUCT OR SERVICE BEING MEASURED) fallen short of or exceeded your expectations? 

Fallen short of                                                                   Exceeded         DK    REF

expectations 1     2     3     4     5     6     7     8     9     10  expectations     11         12

COMPARISON TO IDEAL (IDEAL):

Forget (NAME OF PRODUCT OR SERVICE BEING MEASURED) for a moment.  Now I want you to imagine an ideal (GENERIC NAME OF PRODUCT OR SERVICE BEING MEASURED).  (PAUSE)  How well do you think (PRODUCT OR SERVICE BEING MEASURED) compares with that ideal (GENERIC NAME OF PRODUCT OR SERVICE BEING MEASURED)?  Please use a 10 point scale on which "1" means "not very close to ideal" and "10" means "very close to ideal."

Not very close                                                           Very close to      DK      REF
to ideal    1     2     3     4     5     6     7     8     9     10      ideal              11         12

Calculating DOL ACSI scores for different states by using the weights
The weights for the 50 states plus the District of Columbia are shown in the attached table. 

The ACSI scores of different states for DOL service are calculated by the weighted sum of the three ACSI question means (measured on 1-10 scales) transformed to 0-100 scale values.

For example, if the mean values of the three ACSI questions for Michigan are:


Overall satisfaction (SATIS)





8.3


Confirmation/disconfirmation of expectations (CONFIRM)

7.9


Comparison to ideal (IDEAL)




7.0

Then, these means values from raw data must first be transformed to the values on the 0-100 scale.  This is done by subtracting 1 from these mean values, dividing the results by 9, which is the value range of the 1 to 10 raw data scale, and multiplying by 100.

0 to 100 Overall Satisfaction = ((8.3 - 1)/9) x 100 = 81.1

0 to 100 Confirmation/disconfirmation of expectations = ((7.9-1)/9) x 100 = 76.7

0 to 100 Comparison to ideal = ((7.0-1)/9) x 100 = 66.7

The 2010 ACSI score for Michigan as the weighted sum of these values would be:

(.3954 x 81.1) + (.3250 x 76.7) + (.2796 x 66.7) = 75.6
� The Department of Labor has shortened the wording of these for its use.





